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1. Haemophilus Inﬂuenzaé Type~p Vaccine g

(A) Conjugate Vaceine B)  Toxoid vaccine

(C) Inactiyaeq vaccine | (D) Live, attenuated Vaccine

RiET LS BIZst. g oz . '

(A) e By | B)  Swrye foy

(©) ﬁnﬁq‘ﬁ’m% (D) ‘e%ﬁw?rm%
2, Balapce of body Controlleq by

(A)  Cerebey B)  Cereppy

(©). Pong (D) Medujl, Oblong ta

tﬁrﬁwwﬁzm IR- '

(A) Y 3Ry B) o ©). D) s
3. Other Name of Chrlstmas disease is

(A) Hae_mophiliaA | B Haemophlh B

© a~Thalass’emia (D) B-Thalassem

ﬁﬁawm@fﬁtmvmmm:

@ Reafiraa g Rewfster © - Ay, o) B“"Fffcwﬁm
4., Hinge joint are pi-esent in . : . :

(A) Neck (B) Shoulde, (C) Skuj] (D) Knee

fea % W - '

ich bacteria convertg Nitrite into Nitrate ?

5. Whlcbmr(’bactor (B) Nitrosomonas () lOS!ridium D) high l
@) R TRARBTE gy "1 w0z “aill
WW (B) Lo ot © Ty D)
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In the F, Generation of a Mendelian dihybrid cross the number of p henotypes and
genotypes are-
—9; Genotypes — 4
(A) Phenotypes — 4; Genotypes — 9 (B) Phenotypes p Yp .
J . t —-—
() Phenotypes — 4; Genotypes — 16 - (D) Phe?lotypes ; Genotypes
Tt foras o afira @St werey wep oo izt @ RAAliRtem sean
IS | ' '
(&) RTBRe-4; RrrDIR-0 (B). RPCAGIR=1-9; feC -
(O RTABIR-4; RABIRA-16 (D) TPTIGR-4; fETAGIR -8
The first genetic material could be .
(A) Protein (B) DNA ~ (©) RNA . (D) Carbohydrates
S &S Sotmrafs =y -
A) TafH | (B) DNA (C) RNA - (D) IE=Regs
Analogous organs érise due to - |
(A) Artificial selection B)  Genetic drift
(C) Convergent evolution \ (D) DiVef t
a 2 ﬁ . c 1 i
e —— _ gen €volution
(A) Jfew ey (B) & oz © Sfowg
. Rfom (D) R Ry
The movement of Mimosa (Touch — Me-not) leafley is :
(A) Photonastic (B) Thermonastic ©) S
TGRS ST Far2r e o7 - - Tmonastic Chem
Onast
(A) SN o (g SR ey © N
WW ©) Sy
10. Which of the following hormone jg not secreteq b
. . e
(A) hCG (B)  Estroge Y humay Placey
't © p, a?
Wmﬂﬁ mem? og SterOl :
' (D) Ly
(a) hCG - B R (
E————— C)
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Which of the following is commonly used in Blood b

| (A) Heparin (B) Hirudin

(C) Sodium Citrate |
21T AE TEOwR (4 BT TR @ AR 2 7
(A) AR B) fZ=#fEa

(D) Calcium Citrate

Rhizome of ginger, tuber of potato, tendril of pea plant are _calle& -

(A) Homologous organ (B) Analogous organ

(C) Vestigial organ (D) Transplanted organ

AR RIS, S ~Frod W, W67 mﬁmﬁﬁmﬁraW? _

(A) FTNRE X ‘ (B) S WF

© fefmwr () P

From which cell of testis, is testosterone hormone secreted ?

(A) Stem cells (B) Germ cells

(C) Sertoli cells
STFMER I TP A BrorEad I FRO 2

(D) Interstitial cells

(A) TOH Te/Ta : (B) & Tt
(©) T T | (D) Z=ORFGHE o

Nucleolar organizer region is found in —

Primary Constructi 2o
(A) ry on (B)  Secondary Constryction

(C) Satellite region (D) Telomere region
refraaPt TETeTR S trd
(A) epelfare SIS Q” (QILE (o)
e
() TS (O BT 1 ey
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I5. The part of potato involved in vegetative propagation is D) Leaf
(A)  Seed (B) Root - (C) Stem
i wom s TRIca S, e S STt 309 7
“rel L
(A) = (B) A (C) I (D)

i i i id cross in case
16.  Select what would be the genotypic ratio of F, generation of a monohybrid

of incomplete dominance.

(A) 3:1 (B) 1:2:1 (C) 9:3:3:1 (D) 2:1:1 | =
GERFR T S AFER TR Rer ooy e B PE Sere Ze
(A) 3:1 B) 1:2:1 (©) 9:3:3:1 D) 2:1:1

17. When you add yeast to dough, it rises because
(A) yeast cells reproduce by budding
(B) budding yeast cells from chains
~.(C) the rapidly reproducing yeast cells release carbon d10x1de due to resplratlon
(D) of the bulk of the new yeast cells
R TAMIE ©ICTR A 2B T S T 3 =1, a5 3 7=
(A) TR e To 28 1 (o 27|
(B) B (AT (PRI 2y 7ow 38 (ot 27|
ORRAESIE mﬂﬁmﬂmmwmwﬁwﬁﬁsmn
(D) 59 A 3B7 Bl |

18. Which hormone delay leaf senescence ?

(A) Auxin (B) Cytokinin (C) Gibberellin D) Florigen
@ R4 AQCIBA faAffo (a7 :
(A) S (B) TREERFA  (©) RBwEPR (D) wh
1 If the chromosome number of an endosperm of a plant is 3, = 27 then the mumber of
/ chromosomes in ovum will be _ o
(A) 9 @ 18 . O % ) 36
aﬁmwmﬁlﬂﬂ\w3n—77wwammﬁ -
o TA? ™
9 ® 18 Oy
wo - _——_ >
XN’K,I(R) & GNM-2021 | (Shift- 1 e




ANM(R) & GNM-2021

20. The theory was not postulated by Darwin was —
(A)  Survival of tlhe fittest (B) Natural selection
(©)  Struggle for eXistence _ (D) Inheritance of acquired characters
(/TR T oty S Rt v = ?
(A) Tty ey B) a9 frdn
©)  SRtew oy wmegpy (D) - =f¥fe tafiem Soafien
21.  Which animal amongst these show r€generation Properties ?
(A) Sycon (B)  Snaij (©) Mussel (D)  Planeria
TR 18 ooy 2T T Tt g 2 / _
(A) “¥=wy B) g - - ©) R D)  emcfa
22, Which part of the brain actg as relay center 9
(A) Hypothalamyg (B)  Thalamuyg (C) Pons (D) Cerebellum
TR ol wawfaamwﬁwmwm ?
(A) R1ZTMegrerasy (B) U (C) =y (D) Ty
23, Identlfy Which of the followmg lls hot a structyrg] component of RNA ?
(A) Ribose Sugar . (B) Urasil bage - (C)  Thymin base (D) Phosphoric acid
R RNA qg TETTS By T 9 .
(4) TRCaTer ety (e TS or © e ®) TR i
24. Chromosome having Centromere peqy its tip is
(A) Acrqcentric B) Telocentric © Acentric (D) Metac entric
CPTCICSIC Ceees <o AN Sirer g ey Ol
(A) SMFCrGF (g TEerlE (o ST G (D) TOIT By
25 In which of the following Slage does DNA duplicate ? |
(A) M - stage (B) G, Stage C) s§. Stage ®)
AF3 TFA #HIT DNA-«3 ey Redzy 2 Stage .
(&) M- ®) 67 ©) 8 o |
R e D G, vy
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PHYSICAL SCIENCE (TST® @)

: i ject i side
26 Suppose that the focal length of a convex lens is f. The if an object is placed at one
0s¢ that the foc: .

i : i 2f
of the ley its axis at a distance . ‘
(A) A 1? on rted image will be created on the other side of the lens at a distance f.
n inverted in

(B)  An erect i nage will be created on the other side of the lens at a distance 2f,
erect i . )

(©)  An erect image will be created on the other side of the lens at a dlstafme f.

(D)  An inverted image will be created on the other side of the lens at a distance 2f,

T I 93 B ACIE I A f | ORC T aFHE WowT T B of
T 926 33 e |

W) TR e fare £ g @o wee Aoy g 7@

(B) T et it 2f ey @M s Sy i 2

© ﬁmwwmfmwfﬁwﬁ#ﬁf%ﬁ?aﬁm

© Wwwﬁwzfmmwwmﬁm

27.  If the volume and pressure of a certain amount of an idea] gas are respectively V, and P,
at an absolute temperature T, and V, and P, respectively at another absolute temperature
T,, then which of the following equivalence relation is correct ?

PV, szz ‘ PT P.T
(. ) 1 o T . ®) Vi v,
P, P o
© V1 =v5 O PViT =Py,

—-22 T, P.T
!
M R > ® -l
1 2
P, P
C) v+ =v+
© Vit VT, ©) PlVlTl=P2V2T2

" : When parallel rays of light coming frop, , fara

parallel to its main axis, they meet at a pojn; afle Way distance f:

el alls on a concave mirror
€ction, This point is called

(A) pole ®) centre of curvature (C) focys :
WRTT JIGPR IR STy (D) axis .
ﬁnﬂﬁ;ﬁﬂﬂwﬁmmWﬂ::mﬁ;mﬁm TN W wRw S 2
B -
(A) TF ____(_.A)_Mum__m © wrm ) o
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29.

30.

31.

F

(A) Carbon (B) Sodium (C) Argon

. o W0 T . L (D) Nickel
A) o (B) T (€)= Ay
ANM((R) g NM-Z‘m (Shl?t"-ﬁ """""""" 8 R (D) Ree ./
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The foul smelly gas that evolves when dilute sulfuric acid reacts with ferrous sulfide a
normal temperature is

(A) hydrogen sulfide (B) methane
(C) carbon monooxide : (D) nitrogen
‘ wqmmmmwmﬁ%mmﬁmwwmmﬁmmmﬁmw
T T TG T
(A) TRTECSA TS ®) fee

(C) T TASHLS | (D) RIS

Which of the following is an electrovalent compdund ?

A) CH, - (B) €O, © NeCl (D) H,0
_ﬁm@ﬁwﬁawmﬂ%mﬁﬂﬁm _
(A) CH, - (®) CO, (©) NaCl (D) HO

Select the correct answer. 5

When a ray of monochromatic light of red colour passes through a prism, we get ontl
other side B

(A) onlyone red coloured band of light

(B) seven bands of light of colours violet, indigo, blue, green, yellbw, orange and red
(C) only one band of light of green colour

(D) no pand of light at all.

5 TG AT

o 7T AT awﬂ?ﬁaﬁfﬂmnmﬁwmﬁwwm

) aqsﬁwamacwﬂﬁmmml

(B) @, A, S, IO, e[, Tl 8 FeT Lﬂ?ﬁf@fﬁ?{(@@q@mmw'
©)- «aefp I e AT AT e A '

) mwmm\mm@m

. of the following elements d . .
which one ments does not easily partici . i
reactiﬂn : Y participate in any che?
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33. Select the right answer. R v iersed when
An object will float in a liquid while complete )I;m 1 ¢ . ettt Tolues fharihi .
(A) its weight and the buoyancy are equal. — (B) ; Sl\l’ e E'lvll‘t 'LST'[ 1an the 'UO)’fm.)’ -
(C) its weight is more than the buoyancy. (D) both weight and buoyancy arc zero.
AT Seal® v »
G T T WA st s s ST 209 3
(A) T ST @ 4T T T | - (B) 9 ST AT (AF AR
(C) FF OEF FTOR (AT 0 XA | (D) BT STA @ AT GR-2 o7 77 |
34. Select the right answer." '
A Helium atom contains .
(A) four protons and four electrons. \
(B) four neutrons and four electrons.
(C) four protons and two electrons. :
(D) two protons, two neutrons and two electrons.
3% Teal Wb < -
- g Rfemms “rmiqre i :
@ Wéﬁm:gﬁw B) R REET @ 5 Bregy
T TR @ b 3 (D) i 257, 7f6 Fegw @ vt 2z
35. Atomic density of oxygen and nitropen - o :
: ten;peratuf{g émd presiure, the volume égf 32aglgle'a11ne Sopfegg}\zgg] i382?2a adl 28. Also at normal
volume of 28 gram of nitrogen at th ATy “<.4 litre. Wh i
(A) 22.4 litre (B)g 1;.6 nfriame ples(bgl)e a?;‘ ‘*Mperature 2 & Wil be'the
e @ . BFQ AA@T 35 ;:3 'fglltl;mq’ (D) 448 litre
3 22. N =
mw@m? pion 24W|W@Qﬁ@m@@mﬁvgm %Gresn;or 32 &
(A) 22.4FHBR (B) 19.6 i S SlsicE ST T
) 256 |E~\‘ﬂ?fa
36. Which of the following is a vector quantjry o S (D) 44.8 g
(A) Weight (B) Mass v |
A M6 To37 AIf¥ 7 ©)  Aveq D
(A) g&A @) @7 o (D) Time
37. A student was ~cycling to her schog| at a unif (©) U Qepey (D)
‘ near the gate of her school ang Stopped ip 5 L‘?“n Speed |1 M/see o MR
brake ? ‘  See, How mucl, l'n; kf She Presseq the :
Consider the mass of the student apg the ou. Ce she applieq ¢ brake
¢ Cycle tope . 1€ thl‘Ou v] 1
(A) 50N (B) 200N O8ether s g ko . gh the
e = 10 m/see TS sgrgy e (O 10g ) & .
g @ AT CI0 9 50 kg R S o1 g O NG gy o
! : SCarsy % ? S
(A) 50 m""’”{ftﬂ(l?)"' fOO © 190 Frees
e T G
ANM(R) & GNM-2021 { ’ T D)
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38.  Select the right answer. . . hes its hig
If a ball is thrown straight upward then when it rej:calso zero.
(A) " potential energy is zero and kinetic energy lef y is zero.
(B) potential energy is maximum and-kmetlc en ng]aximum'
(C) potential energy is zero and kinetic energy is

(D)  potential energy is equal to kinetic ene‘r'gy-

o Sl v - S—

T 3 AT BN T et B T o S SR T ) T
(A) TR %oy o sfexfms oy 7| (B) M‘T & "Wi%'"@w‘ ‘

©) RS ey o e e =) (D) o s e

hest position, its

' ' 1t di F of wat
39.  Suppose that at any certain temperature, 20 g of common salt dlsso;;?‘i lvr:rastgr g?
makes a saturated solution. Then what is the solubility of common salt i ?

A) 70 (B) 40 © 30 (D) 1000
TV TR AR et 50 g wrte 20 g et e WA wfﬁwé':tv:wr "G T
ORET O @ TR gRTo F® g |
A) 70 " B) 40 (©) 30 (D) 1000

40. In the following table selec

t the correct matéhing between th
column and the classiﬁcati

€ compounds named in f
On names given

in the second . column,
Compound Classification
1. CaO a. Acid
_ N~ T ro——aee - |
2.  NaOH b.  Base
3. CaCl, C.  Alkali :
4. HNO, d.  Salt
(A) l-b, 2'c, 3-d’ 4-a ' (B) l-a) 2'b, 3-0, 4"d
(C) ]'d, 2-0, B;Jau’ 4-b i m %a (D) l'bs Z‘d, 3‘0 4~a
e A 21T IS We e TF R8N B gy urs |
Al , TR e RiIP. R
- ' .
Compoung Classiﬁcation
— | _
Lo e —

\
2. NaOH b W ——
\
3. CaCl, m

M o

- HNo, 4 |
: . TR

A) 1,23, 4-a\\
EC) 1-d, 2-c, 3-2, 4-b (B)

i S—— S— .
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a3 ARITHMATIC (1iBtre) .

<" Raijq Of Volumes of two cubes is 1:27. The ratio of their total surface area 1?
(A) 1:3 (B) 1:9 ‘ (C) 1:8 (D) 1:18
‘iﬁ%‘ﬂmmwiwm?mmmmwmwmm e
@A) 13 B) 1:9 ©) 1:8 (D) 1:18

}Q' When, 5 Certain number is added to each of the numbers 2, 4, 6 and 10, the resultant
?:;’bers are ratio metric, What is that number ? " A
3 o

(B) 4 ©.5 D) 2
2,4,6@10-wmmwmw:wmwmmmﬁmﬁm?
Aa) 3 B) 4 S © 5 ® 2

?3'/ Ifthe Present population of a village is N and the .yearly rate of rise
What wil] be the total population after 5 years ? '

of population is 2x%,
@ N1+ Tag)

10 (B) N(1+5%)5
© N(”%)w (D) N(l_—%)s

44. A solid brass sphere of diameter 42 cm is hammereq
- will be the diameter of the cylinder 92 d to make 5

7 ¢m long Cylinder, Wy,
(A) 8cm (B) 42c¢m €) 21 em ( D) -
42cm=nmwfr?ﬁmﬁmmamfﬁmmqw7 €m
AP T FO T 7 °“‘WWNN%W
(A) 84cm (B) 42cm | C) 21 cm ® - o
Madhab together completes 5 job in 4 g
45. Ra:isag(rln ore days than what Ram needs {, °°mplet2yt Sﬁel}'ott},nely work Separately, Madhab
zleone complete the job ? 11 how mapy days will Ram
2 days (B) 3 days (C) 6 da S
A) 1 y (D) 9 days
@ G G e 4 A 0y g . iy Y
R Wmé WW’“W&QE‘[MW% WW%W
e, T . B) 3fw ©) ¢ A ?
2 ,_,_—-——-‘—""‘"'““"'Ti -------------- T\T N (D) 9fw
it GniD) e
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ENGLISH GRAMMAR (Zezé) A=)

Observe the two italicized words in e following two sentences and give your
observation by choosing any one option below.
1 We should not interfer

i cmone's personal affairs,
Il.  The personnel of civil SCIVICes are a proud |o.
(A)  Only sentence-] is correct,

(B)

nly sentence-I1 is correct.
©)

Both sentences [ and ||
(D)

are correct,
Neither sentence

I nor Sentence 1] is correct,

47, C‘hoo?el the most effective word to fill in the blank to make the sentence meaningfully
complete.
Only those who have completed seventeen years of age are to apply for the
eXamination. '
| (A) eligible (B) legible ) (©) selected (D) illegible
48. Fill in thfi blank with the most appropriate word/group of words to make the sentence
meaningfully complete. : :
e horse stampeded and tore the street.
after (B) off (©) down (D)  out
49. Fill in the blank with the most appropriate word/group of words to make the sentence
ingfull let d '
meaningfully complete, :
ohan tries his best to keep the reputation of his family,
(A) up (B) over & ) to (D) on
S0. Find out which part of the sentence has an error,
. . . 1 - . . d
If we have fagg)m Almlghg j c;vgmhmg(]\;v)lll turn out /‘50“136(%@ / anT)s)ifg
S1. Choose the word, which has nearly the same meaning as ADMONISH. _
(A) Praise Appeal | upport (D) Rebuke
the word, which is o osite in meaning to JEER.
> (Cz}:)ooséle;r ~(B) p&ock (€) Praise (D) Sneer
53. Choose the word that can replace both the words in bold italics ip the two given
ienten’l(‘:iz- management did not find him suitable for.the jobofa clerk,
ﬁ Akash could not arrange all parts of the machine properly, . j
( A) fit (B) employ (€) finish (D) adjust
Choose the word, which can most appropria'tely-,-eplace ;he % Words iy he
54. : oo entence. killi nother |, ~l :
BV e o can be sentenced to death for killing "C) ciaam being,
A person cal : (B) homicide genocide (D) fratpie:
(A) patﬂmd eplace the group of wq Is i el
. ption, which %ar Festlsgep ace 1S givey
he 0 ‘ ied talen .
55, Choosfwiw possesses Vaig) talented (©)  giflec D)
‘One, orsatile e T SXeellgy
RN T Gk
,—‘GN -
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37.

58.

59.
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GENERAL KNOWLEDGE (3117¢ @)
Second world yar ended with the defeat of Germany in the year of

(A) 1925 B) 1965 ©) 1945 (D) 1955
WWW@@W@W@%@H%M‘%W@?
(A) dsxe (B) Ssve (C) s8¢ (D) >see

Monosodium glutamate is commonly known as

(A) Backing powder (B) Table salt

AT BT et ©I 9 <t 2 2
(A) WSS (B)  sHame e

(C) Vinegar (D) Ajinomoto

©) e (D) SI-fECI-Tas!

Which one of the following is the largest gland organ in huma

n body ?
(A) Heart (B) Liver (C©) Appendix (D) Stomach
%Ww%m'\?ﬁ? |

a) = B) e~ ©) wnrifey (D)‘ ArFgler

“Jungle Book® was written by
(A) Satyajit Ray

: .(B) Anita Desaj Cp
(C) Charles Dickens (D) Rudyard Kipling %
‘Jungle Book’ ¥8f FTrafrer .

(A) o T (B) wfver orrs

D) T Resifee

What is the new official name of the city ‘Allahabaq’ ?
60.

(A) Prayagrd]
(C) Yamuna Nagar

(B) Sarabhaij Nagar

(D) Sangampuri

i < T T A
4 e (B)  wrer? qorg
&) o D) et
e T T 13 T e e e ————
i G N
. GNM-
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LOGICAL REASONING (wifere Reie)
61.  Find the odq one out, %4,
(A)  April (B) May € July (D) August .
62. Find the right Option below where the two given words have the same relationship as,.
‘LIGHT - CANDLE’
(A) Exercise — Strength (B) Power— Battery
©) Dieting — Overweight (D) Car- Engine
63. Choose the right option which will complete the first word ang begin the second word
EX(..)ACLE
(A) pert (B) pect (C). pire (D) tent
64.

Choose the right option.

L= = 1
(A) (B) (€ (D)

Which of the following figures does not belong to the serjeg ?
65.

QLY

(B)
(A)

\
g BHD e
iR &
ANM(R)
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